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10 A3l S X2 = 601,000 812,000 A 211,000
OXg=22 At g 601,000
= 480,800
< 36,060
Al 84,140
JYINSEE NA 18,750 15,000 3,750
= 15,000
Al 3,750
301 L2 A=z 18,750 15,000 3,750
= 15,000
Al 3,750
01 Al EE H =06l = 18,750 15,000 3,750
OogIs=d XA 18,750
= 15,000
Al 3,750
2= St BI=EE d4ENIALY 11,455 38,352 N 26,897
= 11,455
101 14 Hl 9,007 35,995 AN 26,988
= 9,007
04 DIt Z2REE S 9,007 35,995 A 26,988
OXNSXE &AL X AL 9,007
= 9,007
201 et 908 817 91
= 908
01 At 22l 908 817 91
OXE X3 4EA X& A 908
= 908
202 Odl 1,540 1,540 0
= 1,540
01 =S LHYI 1,540 1,540 0
OXNSXE &AL X AL 1,540
= 1,540
FOMTAME A 8EHAH A5 855,324 739,902 115,422
= 279,404
< 84,824
Al 491,096
HANE B3 39,688 82,632 N42,944
= 9,000
Al 30,688
HAX 7= 6,860 6,160 700
201 LBH2E| 1,500 1,500 0
01 At 22l 1,500 1,500 0
ORdD AMZYX 21 1,500
301 L2 AF 5,360 4,660 700
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01 Al E& A 46 2 5,360 4,660 700
OdeA XS =4I 7,0008 * 154! %= 12& 1,260
Osled X HE N H| 20,000& = 5% x 12&€ 1,200
O#AXNTRS =ttt| 30,000 * 5 x 48 600
Ol Xt Il =2H| 50,000& = 1H x 6& 300
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OAFK b OH & H| 750,0008 ~ 1H 750
OAMNXEZX X2 50,000& = 132 = 10¢ 500
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10 Ml S X EX 3,500 ,500 0
=M S 3,500
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201 et 9| 3,432 0 3,432
02 2224 3,432 0 3,432
OAHANEY S4lH 36,0008 = 12& 432
O&Mel = #ak 2| 300,000& + 10X 3,000
202 044l 1,296 972 324
01 2L Y| 1,296 972 324
OMol s R4l
81,000 * 2% x 22 x 43| 1,296
307 gizto| A 3,000 ,000 0
o1 s R=dl 3,000 ,000 0
O=2 ol maoHotd 212 AH K&
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405 XHAHFIEHI 3,600 0 3,600
01 AL 2 E F S| 3,600 0 3,600
O&MM &= or 3221 1,200,000& * 3% 3,600
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Al 9,000
301 et A= 18,000 ,000 0
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01 AMFSIEXEE 4562 18,000 ,000 0
O MASsE XN 18,000
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Al 9,000
METAAH A XNSHH 2= 19,792 ,820 972
DIMETANE AN 29 16,732 760 972
201 et 9| 1,400 ,400 0
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200& = 2& = 1,0000H 400
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10,000& * 100 1,000
202 044l 5,832 4,860 972
01 = LH o4 1l 5,832 4,860 972
ZOUMBNAANYA AREZ
81,000& = 2F * 32 * 123 5,832
203 YR =& 8,000 8,000 0
03 AIBZ=XH S =AY 8,000 8,000 0
OMASE HEt3UH 8,000
301 et Az 1,500 1,500 0
09 #HALAHIZ &S 1,500 1,500 0
OMaz 2 M DLIHE W24 1,500
=X 2F 22 3,060 3,060 0
201 ¢er24| 3,060 3,060 0
02 =224l 3,060 3,060 0
OAN&EE RX2el 1,500
ORUAYIAAY etanz
130,000& * 128 1,560
NHRSAH 8435 190,245 157,495 32,750
= 23,347
166,898
HHSAHEEH 29 XI& 118,646 84,759 33,887
307 glz2tol & 118,646 84,759 33,887
10 AtSI =X 2 X 118,646 84,759 33,887
OE TS MEH 2 118,646
NASAR &4 4,905 5,310 A 405
202 044l 1,620 1,620 0
01 = LH o4 1l 1,620 1,620 0
ONASBA 245 ALET
81,000& = 2H * 2& * 53 1,620
301 et a3 3,285 3,690 A 405
09 AL HI 2 A S 3,285 3,690 A 405
OXESAH thal &IJHA 06dHl 81,0008 * 25Y% 2,025
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ANHESAH 2COUIOIH XI& 39,306 38,288 1,018
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Al 19,653
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Al 3,694
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Al 3,694
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OXNESALL 22 X 7,388
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Al 44,000
10 At S X2 X 55,000 45,000 10,000
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Al 44,000
ANEAs=2XNE2AM 24 31,400 46,400 A 15,000
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Al 25,400
201 Let24E] 1,400 1,400 0
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307 glz2tol & 30,000 45,000 A 15,000
< 6,000
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KA S XS A MM S 2,072 2,572 A500
301 et a3z 2,072 2,572 A 500
09 AL HIZB &S 2,072 2,572 A 500
O agHa2x 3o &4 600
OXY=X 3o &A 672
OMHEIAHAAD 2 SBAF S 800
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Al 21,899
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= 69,429
< 3,350
Al 14,441
201 £B-2d| 3,470 0 3,470
= 2,429
Al 1,041
01 At 22l 3,470 0 3,470
OXYGASMEIA EXAIY E22 M 3,470
= 2,429
Al 1,041
307 glz2+ol & 83,750 112,479 A28,729
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< 3,350
Al 13,400
05 Rzt E = 83,750 112,479 A28,729
Otr=0ts HAUY EE AHO 60,500
2 48,400
< 2,420
Al 9,680
O0ts 2Xlse e A 23,250
= 18,600
< 930
Al 3,720
XS AsI =X X2 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
10 AtSI =X 2 X 5,000 5,000 0
020142 XS Atz =X el 5,000
DI A OF R 2= I 76,660 80,720 4,080
2 38,330
Al 38,330
101 @14l 72,340 80,720 A 8,380
2 36,170
Al 36,170
4 J12ZtHZ22EE = 72,340 80,720 A 8,380
OSE A2l AL 212481 (3Y) 72,340
= 36,170
Al 36,170
202 O4dl 4,320 0 4,320
= 2,160
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Al 2,160
01 SLHOYI 4,320 0 4,320
OSE At ZelAb HRFE(3Y) 4,320
= 2,160
Al 2,160
Atcll 22| At 2 F bl 13,100 13,100 0
= 6,550
Al 6,550
201 £B-2dH| 6,550 6,550 0
= 3,275
Al 3,275
01 At 22l 6,550 6,550 0
OAtdd Z2t2lAtY 29 6,550
= 3,275
Al 3,275
301 et d = 6,550 6,550 0
= 3,275
Al 3,275
01 MEIBZE 06z 6,550 6,550 0
O=XAMbA XA 6,550
= 3,275
Al 3,275
ZCE EASNAHEMAH AE AL 100,000 0 100,000
< 50,000
Al 50,000
307 21201 A 100,000 0 100,000
< 50,000
Al 50,000
10 A2l =S X2 X 100,000 0 100,000
OZJATE BASNELHA AMEAL 100,000
< 50,000
Al 50,000
FoY3a 24 XA 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
10 AtEl =X 2 X 10,000 0 10,000
FEowW 24 XA 10,000
SSMIAEXNEEMA += 48,144 0 48,144
= 32,256
Al 15,888
101 @124 dl 48,144 0 48,144
= 32,256
Al 15,888
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| | Al 15,888
IANYR E235t 11,704 11,004 700
SN &2 SE XA 10,484 10,084 400
201 LB-2d| 4,484 4,084 400
01 At 22l 2,000 2,000 0
OsSXasWadE 23 MA MEH 1,000
Oadglig 222 st 1Y
1,000& * 1,0004 1,000
02 2324l 2,484 2,084 400
OSEXZALXE XS XA 84,000& = 13l 84
OSEXAXE RR&2 200,000& = 12& 2,400
202 oddl 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
OSXH&A S2aE 2,000
OFLoAR A MEAME & X ZA 1,000
301 LEtE A= 3,000 3,000 0
01 MEI2ZE 406z 3,000 3,000 0
OY&E ekl 227
20,000& = 1500t+ 3,000
SXags 2922 1,220 920 300
201 LB-2dH| 1,220 920 300
01 At 2t 2l 1,220 920 300
Oaga &3NMA 250,000& * 23| 500
oYk dis G2 60,000& ~ 123 720
MaI=X DIt =4 93,610 228,535 A 134,925
< 18,722
Al 74,888
NAAS SR Ol 25 93,610 228,535 A 134,925
= 18,722
Al 74,888
AMEERNE B35 10,560 10,560 0
< 2,112
Al 8,448
201 Let24E] 10,560 10,560 0
< 2,112
Al 8,448
01 At 2teltl 10,560 10,560 0
OZ2AE=EXNAEZ B23(220Y) 10,560
< 2,112
Al 8,448
CHAHEOHE SE X3 83,050 217,975 A 134,925
< 16,610
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10 A3l S X2 = 4,900 4,900 0
OE&EY gdA RIHE & L =4 &
7,000& = 7009 4,900
SER3AN £ 2=H XA 1,000 500 500
= 200
Al 800
307 glz2tol & 1,000 500 500
< 200
Al 800
10 A3 =X 2 X 1,000 500 500
O=gR3k | 2A=H & 1,000
< 200
Al 800
FESI3A XA 349,000 152,850 196, 150
301 et a3z 349,000 152,850 196, 150
01 MEI2BEE 263 349,000 152,850 196, 150
Osdu=¢ 50,000& = 570 = 12E 342,000
ORI AL 23 200,000 * 359 7,000
OlchXIed WKI|EE 2= 2,155,908 3,145,160 A 989,252
< 47,958
Al 2,107,950
SECITHEH 2,155,908 3,145,160 A 089,252
< 47,958
Al 2,107,950
WEEZMA 966,190 2,785,160 A 1,818,970
201 24l 4,450 4,160 290
01 At 2t 2l 4,450 4,160 290
OusZHEXZ MRS HFAE
70,000& = 112 = 33 2,310
OnlieMsLARS &S
70,0003 = 78 « 23| 980
OAMol& Xt n=sH 22 ME
402 * 5,00004 * 43 800
Ousz2g 39 &9 M= 60,0008 * 62 360
202 044l 1,944 1,944 0
01 = LH o4 1l 1,944 1,944 0
OussZMEaAd 2 HRE
81,000& = 3H * 2& * 43 1,944
301 et A= 64,300 120,000 A 55,700
02 Zet=sk=s 64,300 120,000 A 55,700
OAImOol & Xt wEHI(=S8H)
120,000& * 50H * 23] 12,000
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A FOUMET R D
Ha: MSSHE 75
Sl WMDSIIY PE SEED)
o
SA - B .G (3AH) - MBAY - BES %Ei HR=2
201 LBt | 1,660 1,820 A 160
01 AP 22| H| 1,660 1,820 A 160
OBMSEEE BHaay
70,000 « 10Y¥ * 13| 700
OEQss 2YAAE AH&LY
70,000 * 129 * 13| 840
OBMSISBR 50 B0 M
60,0008 = 23| 120
202 04| 1,296 2,916 N 1,620
01 2L I 1,296 2,916 N 1,620
OBMSEN R 25
81,000 * 2% * 22 «x 43| 1,296
307 2iz2to| & 13,000 13,000 0
02 I2t3 A X2 13,000 13,000 0
OMEEs 24 T )3 o stE5=0te] N
1,300,000€ = 100 St A 13,000
HOSZHWE XNSAL 10,000 10,000 0
307 2Iz2t0| & 10,000 10,000 0
02 It A X2 10,000 10,000 0
Odel2dluns X 10,000,000& * 1J0 2 10,000
AME - P 22 273,286 70,486 202,800
= 106,652
& 41,360
Al 125,274
AE - B A2 273,286 70,486 202,800
= 106,652
& 41,360
Al 125,274
SASIHE A 30,368 35,080 N4, 712
301 Bt A= 30,368 35,080 N4, 712
11 JIEtE2 A= 30,368 35,080 N4, 712
02 % AL +52 2
18,000 * 60 A = 128 12,960
OR2Y & H)je|gh MY D 25
890& * 100H * 600 A = 128 6,408
ORYAAL EXE AX 100,000& = 2504 & 2,500
ONMEsds 2As5gA HOAESE XN
25,000 * 10000 & 2,500
O"eSA MZI Bty ¢ A4S X8
500 * 5000 * 2= * 1200 & 6,000
A EOHN 22| 17,614 17,194 420
101 Q24| 6,380 5,960 420
04 JI2ZtHIZ22NEE S 6,380 5,960 420
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- _ _ RE]
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ocllga 41,800 * 1¥ = 120< 5,016
oFE 4G 41,800 * 19 » 24 1,004
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81,000 * 2% x 22 x 63 1,944
OfMA AL CHE=SE 2,400
206 T 24 2,550 2,550 0
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Oz 2t0121E 8 ¢
8,500& * 10000 » 3= 2,550
301 YptE A 2,940 2,940 0
09 HAIAHI EAZ 1,200 1,200 0
OAHI XA EAMUAIR ESH|
40,0003 * 39 * 10¢ 1,200
11 JIEtE &2 1,740 1,740 0
OAME4L+H ZHB B4
10,0008 = 1221 * 123 1,440
ORISHAE MNEMNZ 100,000 * 3 300
HElo] H=SAHel et 2el 28 209,960 3,520 206,440
= 104,980
&< 41,360
Al 63,620
301 LBt A= 3,160 3,520 A 360
= 1,580
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307 QI2t0| ™ 206,800 0 206,800
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& 41,360
Al 62,040
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Ooglo saae NeEdyd X 206,800
= 103,400

_27_




<

n0

Kio

Hl w

52

52

52

12,000

9,500
9,500

2,500

2,500

35,310

1,924
1,924

1,764
1,764

H3r
Wikd
RIS

3,292

1,852

1,852

1,440

1,440

33,308

33,308
33,308

27,348
23,148

Off &t 24

H

41,360
62,040

Al

3,344
1,672
1,672
1,904

Al

952
952
1,904
1,904

i

Al

952
952

fir

Al

1,440

720
720
1,440
1,440

fir

Al

720
720
12,000

i

Al

9,500
9,500
2,500

1,000
6,000
2,500

2,500

2,500

68,618
30,202
38,416
35,232

35,232

Al

29,112
24,912
3,000
2,400

4,800

600

00

ok
Rl

KJ
ol
At
<

30
0K
1)
oll

30
0B
Mo
[0

<J

0
il
ol

Ed
[a}

ro
<0
mi

oJ
oll

St

=

=

|

=

o

OAILIOTZ Al

il
<0
H

o)
oll

301

o
<0
H

b

11 JIEt

<0

<
3D
<k
ok
)
El
)]
I

O

]

[

&« 10004

e

[l

& x 20000 &

10,000
30,000&

20ld

KA
iy
il

~J

oJ

[l

2 % 5 A

500,000&

|

=

=

A& &dl Xl

=]
o)

il
Z0
oJ

K-

R0
30
U
RO
0

30
R
o]
ol

201

E

2l % 12

2+ 128

[=)
[
o

=

250,000
200,000

)

=

=)

(2 ALK

282 2
A2 D101

t

A

O
O

01 At 22l bl

ol

to
]
<

S|

RO
0

2« 8CH » 23]

=

o

300,000

=

2l % 12

[=}
=

50,000

n
K

ol

<+
RO
o

E
J

_28_




AN FRMSTA L
. HH2IYGU(FUMETAD)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oz &l 7,000 * 24Y « 72 + 123 14,112
02 =24l 4,200 4,200 0
ORERS 350,000& = 12& 4,200
202 o4dl 1,920 1,760 160
01 = LH o4 1l 1,920 1,760 160
OHI&4Z2 2O 1,920
203 YR =& 4,200 4,200 0
04 EASIYRFLH| 4,200 4,200 0
ORN2EYEF=AHI 350,000& = 123 4,200
ol 2d | 33,386 0 33,386
= 30,202
Al 3,184
QlHA2HH (XA XE A AN XA 27,018 0 27,018
= 27,018
101 @124l 27,018 0 27,018
= 27,018
03 RIHAZZ N E =+ 27,018 0 27,018
OXE X3 &EA 27,018
= 27,018
OlA2HHI(2IMOrY FXI) 6,368 0 6,368
= 3,184
Al 3,184
101 @144 dl 6,368 0 6,368
= 3,184
Al 3,184
03 RIAHAZ 2T E + 6,368 0 6,368
OSEAMAZ2IAH(1E) 6,368
= 3,184
Al 3,184
MRS (=0 Me X2 ) 637,219 587,061 50,158
HEHHK = 637,219 587,061 50,158
LHEHeH X = 637,219 587,061 50,158
701 JIEISI HEES 637,219 587,061 50,158
01 JIEteI HE =2 637,219 587,061 50,158
OA=2SEEAN HES 637,219
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